TEE

EILER L=460.0m |

REI A=3, 760m2

EET A=750m2

LERAE (t =12cm) A=3, 020m2
FERAE (t =10cm) A=750m2
REZETE  A=3, 760m2

XE#HI N=1.0=xX
BREREHEMET N=1.0X

I:v._,_ '.
* MO0

e

) =
L . '&‘;Jﬁ’u‘«‘ \
(f\\\ S

wEmEAE ()

wEEAE (2) (X1)

No. 0~No. 18 No. 18~No. 23
KBTI Asl13 3 KBTI As13
ryo e, LB Yo s ~ 00 O i ° 00 O
0000 EEREME (30) 202000 | g o, LR b o
) U0 UQ ) U tUg g -_'Q_-c;i-{ﬁ_l_-c}'. BEERZENIE (30) %.'_Q-c;i-{f?:-o'

ERsx iz R

X1 SEBR (D) (X, No 19HETHT > L HABICK YRESO-HERHTH .

EEERSHEEE & U -20em TR REAHER SN2, HEHEERZ2BEH+ETRELEL LTLSA,
BB REN-20nTHERSAGEVROCZDOMEER AR SN[ OVNTIE, BEESEREBDS AREBRERET S &,

001 0§ 0§

No. 0~No. 18 No. 18~No. 23
6, 600'!%3, 200 7, 400’L7, 500
= U= ¥ =

KBTI t=50m BEFHET RV (13)

LERET t=120m FERTLE (30)

KBTI t=50m BEFHET7Z A2 (13)
EEBI t=H0m BARKMETZ RV (20)
EREEET t=100m BERTENE (30)

FTHIHFE K- REXNEER

T 2R ot o rmans GREEETs
0% | TEE SEERE SENEE
TEB FEW LZzE A

w R - EEEEAEE

EHA

FET EHRARERAIIER




fFLEHR L=2. 5mx 2

ZEN (15cm)

L=9. 2m x 3+6. Tm % 2=41. Om

FEE

1/250

£ 7544 E (15cm) L=90. Om

+ 75 (45cm) L=38. 8m

=42 (15cm) L=460m

No. 0

No. 9

No. 18

3) HEIFAIZAICHE/NERILE=2DTH D,

ITEA

Bem)y L=40. Om
/ B4R (15cm) L=380x Q. 5=190m
£ " Wi (ipom) =80T — £ = = = = £ = g
[5e) — == o —_— = o o f .
~ — = = N ™ =4 (15cm) L=460m & ' ' ~
: : e _ _

= o e 2 = = 2 2 2

= = =
= = I = £ = £ = = £
(=] (=] (97] 0| O] < LO)| (=] o) <t
T~ T~ < — P Ioe fo Ioe ~

= = o © = 10 © ~ ®

o o I ; . . S s

= = = 2 = 2 =2 = =
= = = = = | =
<t LO)| LO| LO)| < <t
= = =~ = = ~

D o — N ™

— N [aN] N N

o o o o o

= = = = =

AN LY (] <
SHMSEE K Ze2XHEFE

e EZEE R MRS REEEETSE

X & %

BB

T =I5

FEM L2E RN

R

Hrx | HE&5| 2

EHA

FET EHRARERAIIER




